


1. Compounding: 20p

Suppose that you have accumulated 1.200 TL in a bank account at the end of first year and it reaches to 1.452 at the end of second year with the following criteria;
· For the first year you begin to save with a PV=? and add 100 at the end of each Quarter with a yearly interest rate of 10% calculated quarterly?
· For the second year you go on to keep your saving by adding A=? at the end of each six-month-end with a yearly interest rate of 10% but calculated semiannually?

	First Year
	Second  Year

	PV=?
	
	
	
	FV
	
	FV

	0
	1 Q
	2 Q
	3 Q
	4 Q
	1 Sixth Month
	2 Sixth Month

	
	
	
	
	1.200 
	
	1.452 

	?
	100
	100
	100
	100
	A=?
	A=?


a. What is the value of your accumulation at the beginning (PV)? (5p)
b. What is the value of annuities(A) for the second year? (5p)
c. What is the interest payment (I) that is earned for the first year? (5p)

d. What is the interest payment (I) that is earned for the second year? (5p)

	
	
	
	
	1.200,00 
	
	1.452,00 

	?
	100
	100
	100
	100
	A
	A

	-710,94 ₺
	
	
	
	
	?
	?


	
	
	
	
	1.200,00 ₺
	
	1.452,00 ₺

	?
	100
	100
	100
	100
	A
	A

	-710,94 ₺
	
	
	
	
	-62,93 ₺
	-62,93 ₺

	
	
	
	
	Interest (1)
	
	Interest (2)

	-710,94 ₺
	
	
	
	73,81 ₺
	
	123,00 ₺

	
	100
	
	
	7,69 ₺
	
	3,15 ₺

	
	
	100
	
	5,06 ₺
	
	0,00 ₺

	
	
	
	100
	2,50 ₺
	
	

	
	
	
	
	0,00 ₺
	
	

	
	
	
	
	89,06 ₺
	
	126,15 ₺

	
	
	
	
	
	Total
	215,21₺


2. Annuity Values: You want to buy a new car that sells at a price 30.000₺ but you can make an initial payment only 3.476,50₺ and can afford monthly payments over 60 months. If the APR (nominal yearly interest rate) on auto loans is 12%, 



What is the monthly payments over 60 months you can pay for the car?(10p)

=PMT(12%/12;60;30000-3476,5)= -590,00 ₺
3. Growth of Funds: In end-2023 a kilogram of apples is predicted (forecast, expected) to cost 5₺. If the yearly  inflation rate is 7,02% ;What is the price of apples in end-2016? (10p)
=PV(7,02%;2023-2016;;5)= -3,11 ₺
4. Perpetuities: You have an apartment flat which market value is TL144.000 that makes you earn 1200₺ rent for each month; what may be the probable yearly market interest rate (APR) ?(10p)



yearly market interest rate = 1200*12/144000= 10%
5. Annuity Value: You search to buy or lease a sedan (car) for following years (paid at year end). If you can earn 8% on your savings and the car sell price is TL 40.000. What may be the value of fourth year lease payment for brake even point? (10p)
	Years
	Lease Payments

	1
	15.639

	2
	6.000

	3
	9.000

	4
	?


	Years
	Lease Payments
	40.000 ₺

	1
	15.639
	=NPV(8%;H17:H20)

	2
	6.000
	

	3
	9.000
	

	4
	18000
	


6. Interest Amount: Suppose the interest rate is 12% per year, compounded monthly. What is the minimum investment that has to be invested for a three year period in order to earn 300₺ in interest? (10p)
FV= PV + I >> PV+300 = PV*(1+12%/12)^36 >> PV=300/0,4307688 = 696,43
7. Simple Interest & Compounding: 


The difference between the Future Values of an investment calculated by using compounding and simple interest methods is TL 524,36. What is the original principal (beginning investment value) if the yearly interest rate is 10% for 20 years period? (10p)
FVc – FV s = P*(1+10%)^20 – P*(1+10%*20) = 524,36 >>> 6,73P-3P=3730 >>524,36/3,73 
P = 140,67TL
8. Calculating Interest Rate: You take a credit 36000 and will repay it one year later, but the bank pays you only 33000 at the beginning, in other words it applies an upfront (paid-in-advance, earlier) interest payment.   What is the effective interest rate on this loan? (10p)

3000/33000= 9,09%

9. Fill the blanks with appropriate phrases!. (10p)
a. Real Assets: Used to produce goods & services such as Tangible: Machinery, factory, offices and Intangible:Trade mark,patents,technical expertise

b. Financial Assets: Claims to the income generated by real assets. Also called securities.

c. Compound Interest is the interest earned on interest.;  
d. Simple Interest is interest earned only on the original investment; no interest is earned on interest.
e. In general sense Interest is  The PRICE of the MONEY.

f.  Technically Interest is  the difference between Future and Present Value.
g. Future Value (FV) is an amount to which an investment will grow after earning interest.
h. Present Value (PV) is value today of a future cash flow.
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